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S.Y. Bsc. (Home science) 4+ Semester Exammatlon
Monday, 02rd April, 2018.
02:00 P.M. to 05:00 P.M.
UH04CHUDO4 - Learning in early years

Q1. Which prmc:ples do you keep in mind while planning the programme for nursery school ?

Discuss ‘
[10] :

OR
Discuss the factors which rinﬂuence on programme planning.

i

Q2. What are the indicators of readiness ? Discuss the factors which are responsible for the
reading and writing readiness. o . , [10]

OR

Explain the teaching learning methods which can be used in Pre-school.

Q3. Answer the followmg questions (Any Four) ' : , - [

\Nhy early chlldhood is important ?

What are the objectives of Pre-school education ?
What are the children’s need in early years ?
Why curriculum is important ?

Which skills-are required for re'ading ?

VR wN e

Q 4. Write Short Note on-Any Four ‘ y [10]
1. Importance of number.
2. Benefits of project method.
3. Goals of language teaching.
4. Alternative to homework.
5. Objective and scope of environmental studies.

@ | QD..T. 0.)

Total Marks: 60




Q 5. Give Four examples of each. 7 ’ [10] .

Comparing

L
2. Ordering
3. Space ,
4. Three-dimensional
5. Measurement of time
Q 6.(A) Match A with B o [0s] -
A B
1. Reading Foundation Years
2. listening Skills ~~ Sound Discrimination .
3. Scribble More & Less
'4. Counting Readiness l Left to Right
5.Early Years . o Writing Readiness
Q6.(B) Fill in the blanks [05]

. Two dimension means and of a thing.

Learning through play-way method is an approach of learning.

1
2

- 3. __is aneed of young child,”
4

4. Story telling helps in the __development.
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